ax? + 24x 49 ©] SRAAFA o] ©7] 915t o o] gL Fsfeler.

> E

> =g 16

M =2x Vax3°|E2 ya=4 . a=16




Ao, (x-1)%+6(x—1) +5 & F& Fstofet.

X = \/5—2

(x=14+1D)(x-1+5) =x(x+4)
= (V5-2)(V5+2)
=1




3. a+b=29<L W a®+2ab+b>-2a-2b 2] G Fotolzt.




4.

-9x% +y2 + 6xz— 72 & Q15
74 = et o, &4 a, b,

D1 @ 2

B

Z2ASFATIY (ay - 3x +2)(y + bx + )
c ol tate] a+ b+ c O] ghe F5HA?

®)s @ -1 ® -2

—9x% 4+ y2 + 6xz — 22
=y% - (9x? — 6xz + 2?)
= y2 = (3x - Z)2

={y-

a=1,b=3c=-1
La+b+c=3

Bx-2)} {y+Bx-2)}
=(r-3x+2)(y+3x-2)




Xt = 1307 + 362 AFEoE o, SR LR o] Fof%

ke 1519
O 4x+13 @4x ® 4x-13
@ 2x2-13 ® 2x2+5

B

x* = 13x% + 36= (x2 - 9)(x% - 4)

= (x+3)(x—3)(x+2)(x~2)

- (2R Q55 )
=x+3+x—-3+x+2+x—-2=4x




